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1250 {EERT 2 4 4 1 4 2 1 1 2 2
1260 fEH & 0 0 2 0 0 2 1 1 1 2
1270 FEEHT 2 1 4 2 2 2 2 2 0 3
1280 FRAHET 2 0 1 1 2 1 3 5 1 1
1290 £ HT 3 0 0 3 1 1 2 3 2 2
1300 & ZEHT 1 2 3 0 0 2 2 1 1 1
1310 RLHET 5 1 2 3 0 0 2 2 0 1
9999 XH M &t 106 91 112 99 100 98 104 92 87 97
1510 HEHD L BT 4 10 7 10 17 5 8 13 12 7
1520 #EHI T HT 10 8 10 7 6 11 10 15 12 7
1530 HEHNFTHET 2 1 6 7 5 5 5 7 2 5
1540 K1ZFHT 4 7 8 6 13 10 9 13 9 10
9999 HEMNME X &t 20 26 31 30 41 31 32 48 35 29
2010 EEERHAT 2 4 2 0 1 4 0 1 1 5
2020 % &7y 4 1 3 3 2 0 4 4 4 1
2030 LBHT 0 0 0 0 2 0 1 0 0 0
2040 ;MET—TH 1 5 2 3 2 4 5 1 1 1
2050 ;BT =T H 1 2 2 2 1 1 3 2 3 3
2060 5 MET 0 1 1 1 0 1 0 0 1 1
2070 ¥ xET—TH 2 3 5 5 2 1 4 3 3 5
2080 FRETZTH 2 2 0 0 3 3 4 2 4 3
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2100 HiLET 2 1 3 6 2 2 3 4 4 4
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2550 jHHT 2 1 4 3 6 3 5 2 3 3
2560 = ST 9 6 8 17 8 13 15 16 10 9
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1280 FRAHET 4 3 1 4 2 3 0 1 1 2
1290 £ HT 1 0 0 2 5 5 1 3 0 2
1300 % FEHT 3 1 0 1 3 2 1 0 2 1
1310 RLHET 1 0 0 1 1 1 1 1 1 0
9999 XH M &t 80 102 124 118 108 79 54 76 78 59
1510 HEHD L BT 6 11 14 13 7 5 5 6 10 11
1520 #EHI T HT 11 15 8 16 11 12 5 6 5 9
1530 HEHNFTHET 2 4 7 4 9 4 4 8 5 2
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2010 Z E AT 0 1 1 7 3 4 2 2 3 3
2020 % &7y 5 4 1 1 4 1 0 1 0 5
2030 LBHT 0 1 2 3 1 0 0 0 0 2
2040 ;MET—TH 3 6 2 5 2 4 1 4 1 4
2050 ;BT =T H 2 6 2 4 1 8 3 2 1 2
2060 5 MET 1 2 1 2 2 0 1 1 0 1
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9999 EERXET 54 63 64 65 60 60 26 36 45 40
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